1 7 Pushbuttons and Indicating Lights

30.5 mm Heavy-Duty Watertight/Qiltight—10250T

1 g
@ /
>
L )"\5
Two-Position Flush Head Mushroom Head Mushroom Head Jumbo Mushroom Knob-Operated
Joystick Operator Pushbutton Pushbutton Operator with Head Operator Selector Switch

Operator Operator Padlock Attachment Operator

19
l 20,

/

17

267,/ 1
24 2223 1
Four-Position Joystick Illuminated Full Voltage, Resistor Transformer Type Potentiometers

Operator (without Latch) Pushbutton Operator and Transformer Type Indicating Light
Illuminated Selector Switch

10250T Style Operator Replacement Parts

Item No. Item No.
No. Description Req. Part Number No. Description Req. Part Number
1 Gasket 1 16-1548 14 Gasket (supplied with basic unit) 1 32-803
2 Mounting nut 1 15-1530 15 Round head screw (#4-40 x 0.344 in long) 2 11-4553
3 Handle 1 20.5005 (supplied with basic unit)
1 Knob 1 53-3157 16 Mounting screw 2 11-1632
Knob (not shown) for joystick operator with latch 1 53-3159 17 allzligt(jitr?:lﬂsgnﬁ;%s 18,28 or 29) ! As Reg. Below
Common gate (supplied with operator) 2 16-3400 1,000 ohms — 1-782-2
6 Set screw (#6-32 x 0.250 in long hollow hex) 2 11-2014 2,500 ohms — 41-782-3
7 Mushroom head button (includes [2] Item 6) 1 As Req. Below 5,000 ohms — 41-782-10
Black - 531317 10,000 ohms — 01-782-4
Fled - 53-1317-2 25,000 ohms — 01-782:5
Yellow - 53-1317-3 50,000 ohms — 01-782:6
Green — 53-1317-4 18 Connector (includes screw and lug) 2 25-1851
Blve — 53-1317-22 19 Indicating plate 1 As Req. Above
8 Set screw (#10-32 x 0.250 in long hollow hex) 2 11-544 Standard size (without legend) — 30-4460
9 iJauIumnti?numrrmiri?]mg:safz?ﬁg?nns) ! As Req. Below Large size (specify legend) — 10250TR30
Red — 53-1317-9 20 Retaining nut 1 15-1547
Black — 53-1317-10 Z Knob 1 53131
Yellow — 531317-11 Socket set screw (#6-32 x 0.250 in long) 2 11-2014
Green — 53131712 22 Coupling 1 29-3749-2
10 Jumbo mushroom head button 1 53-1349-18 2 Set screw [# 32 x 0188 in ong) ! 111199
(aluminum—red EMERG. STOP) 24 Spacer 2 56-1066-18
does not include Item 8 25 Connector (includes screw and lug) 1 25-1851-2
" Position gate: 26 Mounting nut 1 15-1938
Two-position ! 54-1218 27 Four-position joystick operating mechanism 1 24-6565
Three-position 1 54-7173 (complete)
Four-position 1 54-12278 28 Four-position joystick operating mechanism 1 24-6565-2
Eight-position 1 5412279 (not shown) (with latch) complete
12 Mounting screw (#6-32 0710 in long) 2 10250TA79 2 Spring loaded latch ! 5212142
Washer 2 16-2038 30 Hand operated latch 1 52-913-3

13 Terminal screw and lug (captive) Reg. 80-5502KIT






